

# On the asymptotic behaviour of some Dirichlet series with a complicated singularity

**Citation for published version (APA):**

Bruijn, de, N. G., & van Lint, J. H. (1963). On the asymptotic behaviour of some Dirichlet series with a complicated singularity. *Nieuw Archief voor Wiskunde*, 3/11, 68-75.

**Document status and date:**

Published: 01/01/1963

**Document Version:**

Publisher's PDF, also known as Version of Record (includes final page, issue and volume numbers)

**Please check the document version of this publication:**

- A submitted manuscript is the version of the article upon submission and before peer-review. There can be important differences between the submitted version and the official published version of record. People interested in the research are advised to contact the author for the final version of the publication, or visit the DOI to the publisher's website.
- The final author version and the galley proof are versions of the publication after peer review.
- The final published version features the final layout of the paper including the volume, issue and page numbers.

[Link to publication](#)

**General rights**

Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

- Users may download and print one copy of any publication from the public portal for the purpose of private study or research.
- You may not further distribute the material or use it for any profit-making activity or commercial gain
- You may freely distribute the URL identifying the publication in the public portal.

If the publication is distributed under the terms of Article 25fa of the Dutch Copyright Act, indicated by the "Taverne" license above, please follow below link for the End User Agreement:

[www.tue.nl/taverne](http://www.tue.nl/taverne)

**Take down policy**

If you believe that this document breaches copyright please contact us at:

[openaccess@tue.nl](mailto:openaccess@tue.nl)

providing details and we will investigate your claim.

## ON THE ASYMPTOTIC BEHAVIOUR OF SOME DIRICHLET SERIES WITH A COMPLICATED SINGULARITY

BY

N. G. DE BRUIJN and J. H. VAN LINT

1. *Introduction.* Let  $\alpha(n)$  denote the *kernel* of  $n$  ( $n = 1, 2, 3, \dots$ ), i.e. the product of all different primes dividing  $n$ . The sum  $S(x) = \sum_{n \leq x} (\alpha(n))^{-1}$  was studied in [1] and [2]. In [1] it was shown that the corresponding Dirichlet series

$$f(s) = \sum_{n=1}^{\infty} (\alpha(n))^{-1} n^{-s} \quad (1)$$

satisfies

$$\log f(s) \sim s^{-1} (\log s^{-1})^{-1} \quad (s > 0, s \rightarrow 0), \quad (2)$$

and using this and a tauberian theorem of HARDY and RAMANUJAN [3] it was shown in [1] that

$$\log S(x) \sim \left( \frac{8 \log x}{\log \log x} \right)^{\frac{1}{2}} \quad (x \rightarrow \infty). \quad (3)$$

In [2] we proved that  $S(x)$  is slowly oscillating (in the sense of Karamata), i.e. that for each positive  $c$  we have

$$\lim_{x \rightarrow \infty} S(cx)/S(x) = 1.$$

This was derived from

$$\sum_{n \leq x} \frac{n}{\alpha(n)} = o(xS(x)) \quad (x \rightarrow \infty).$$

In the proof of this, the following idea played a role. If a sequence of positive numbers  $a_1, a_2, a_3, \dots$  is such that for every prime number  $p$  we have

$$\sum_{n \leq x, p \nmid n} a_n = o\left(\sum_{n \leq x} a_n\right),$$

then also

$$\sum_{n \leq x} n^{-1} \varphi(n) a_n = o\left(\sum_{n \leq x} a_n\right).$$

This means that the effect of the factor  $n^{-1} \varphi(n)$  is not given merely by multiplication by its average (which is  $6\pi^{-2}$ ). In order to get a

more precise idea of the effect of this extra factor, we study, in sec. 2, its effect on the series (1). That is, we study the series

$$g(s) = \sum_{n=1}^{\infty} n^{-1} \varphi(n) (\alpha(n))^{-1} n^{-s}. \quad (4)$$

Whereas we do not know the asymptotic behaviour of  $f(s)$ , but only of  $\log f(s)$ , we are more successful with the quotient  $g(s)/f(s)$ , of which the asymptotic behaviour can be determined (Theorem 1).

A similar question, to be studied in secs. 3 and 4, considers the effect of omitting certain terms of the series for  $f$ . If  $\lambda$  is a positive integer, the positive integer  $m$  is called  $\lambda$ -full if  $m$  is divisible by at least the  $\lambda$ -th power of each prime which it contains. We shall study the effect of restricting the summations to  $\lambda$ -full integers, e.g.

$$S_{\lambda}(x) = \sum_{n \leq x}^{(\lambda)} (\alpha(n))^{-1}, \quad (5)$$

where the upper suffix  $(\lambda)$  indicates that only  $\lambda$ -full values of  $n$  are taken. If  $\lambda = 1$ , there is no restriction, so  $S_1(x) = S(x)$ .

We are interested in the quotient  $S_{\lambda}(x)/S_{\lambda+1}(x)$  as  $x \rightarrow \infty$ . In [2] it was shown that this quotient lies between 1 and  $\log(x+1)$ . We conjecture that

$$S_{\lambda}(x) \sim \lambda^{-1} e^{-\gamma} (2 \log x / \log \log x)^{\frac{1}{2}} S_{\lambda+1}(x) \quad (6)$$

(throughout the paper,  $\gamma$  denotes Euler's constant).

We were able to establish the behaviour of the quotient of the corresponding Dirichlet series  $f_{\lambda}(s)/f_{\lambda+1}(s)$  (theorem 3), but if we want to apply this to a proof of (6), we need an unproved assumption on the smoothness of  $S_{\lambda}(x)/S_{\lambda+1}(x)$  (see sec. 4).

In a final section (sec. 5) we shall devote some attention to the series  $\sum_{n=1}^{\infty} (\alpha(n))^{-\beta} n^{-s}$  for  $s \rightarrow 0$ , if  $\beta$  is fixed and  $> 1$ . It shows a different asymptotic behaviour.

## 2. The quotient $g(s)/f(s)$

Theorem 1. 
$$\frac{g(s)}{f(s)} \sim \frac{e^{-\gamma}}{\log(1/s)} \quad (s > 0, s \rightarrow 0).$$

Proof. The product expansions of  $f$  and  $g$  are

$$f(s) = \prod_p \left( 1 + \frac{1}{p(p^s - 1)} \right), \quad g(s) = \prod_p \left( 1 + \frac{1 - p^{-1}}{p(p^s - 1)} \right), \quad (7)$$

whence

$$\frac{g(s)}{f(s)} = \prod_p \left( 1 - \frac{1}{p^2(p^s - 1) + p} \right). \quad (8)$$

Assuming  $0 < s < 1$ , we put  $A = (s \log(1/s))^{-1}$ , so  $A \rightarrow \infty$  if  $s \rightarrow 0$ . Using  $|\log(1-x)| \leq C|x|$  for  $|x| \leq \frac{1}{2}$ , we have

$$\left| \sum_{p>A} \log \left( 1 - \frac{1}{p^2(p^s - 1) + p} \right) \right| \leq Cs^{-1} \sum_{p>A} p^{-2} \log p.$$

A simple application of the prime number theorem shows that this is  $O(s^{-1}A^{-1}(\log A)^{-2})$ , and this tends to zero if  $s \rightarrow 0$ . On the other hand

$$\begin{aligned} & \left| \sum_{p \leq A} \left\{ \log \left( 1 - \frac{1}{p^2(p^s - 1) + p} \right) - \log \left( 1 - \frac{1}{p} \right) \right\} \right| = \\ & = \left| \sum_{p \leq A} \log \left( 1 - \frac{p(p^s - 1)}{p^2(p^s - 1) + p - 1} \right) \right| = \\ & = O\left( \sum_{p \leq A} \frac{p(p^s - 1)}{p - 1} \right) = O\left( \frac{A(A^s - 1)}{\log A} \right) = O(sA) = o(1) \end{aligned}$$

if  $s \rightarrow 0$ . Now using the following formula, well known in prime number theory:

$$\sum_{p \leq A} \log(1 - p^{-1}) = -\log \log A - \gamma + o(1),$$

we finally obtain

$$\begin{aligned} \log \frac{g(s)}{f(s)} &= \sum_{p \leq A} \log(1 - p^{-1}) + o(1) = \\ &= -\log \log(s^{-1}) - \gamma + o(1) \quad (s > 0, s \rightarrow 0), \end{aligned} \quad (9)$$

and the theorem follows.

If we insert the extra factor  $n^{-1}\varphi(n)$  in a series like  $\zeta(s+1) = \sum_1^\infty n^{-1-s}$ , the effect is asymptotically (as  $s \rightarrow 0$ ) multiplication by  $6\pi^{-2}$ . The fact that the effect of the extra factor is so much more severe in the case of  $f(s)$ , is connected with the fact that the separate factors of its product expansion do not tend to unity as  $s \rightarrow 0$ . We express this in the following

**Theorem 2.** Let  $a(n)$  be a positive multiplicative function, such that  $\sum_1^\infty a(n)n^{-s}$  converges for  $s > 0$ . For each prime  $p$  we put

$$M_p = \lim_{s \rightarrow 0, s > 0} (a(p)p^{-s} + a(p^2)p^{-2s} + \dots),$$

and we assume that there is a constant  $c > 0$  such that  $M_p > c$  for all  $p$ . Then we have, as  $s \rightarrow 0, s > 0$ ,

$$\sum_{n=1}^\infty n^{-1}\varphi(n)a(n)n^{-s} = o\left(\sum_{n=1}^\infty a(n)n^{-s}\right). \quad (10)$$

Proof. The series involved have the product expansions

$$\prod_p \left( 1 + \frac{p-1}{p} R(p, s) \right) \text{ and } \prod_p (1 + R(p, s)),$$

where  $R(p, s) = a(p)p^{-s} + a(p^2)p^{-2s} + \dots$ . So for the quotient we obtain

$$\prod_p \left( 1 - \frac{p^{-1}R(p, s)}{1 + R(p, s)} \right).$$

Denoting the factors by  $\theta(p, s)$ , we have  $0 < \theta(p, s) \leq 1$  for all  $p$ , and

$$\lim_{s \rightarrow 0, s \rightarrow 0} \theta(p, s) < 1 - \frac{c}{c+1} p^{-1}$$

for each separate  $p$ . As  $\prod_p (1 - c(c+1)^{-1}p^{-1})$  diverges, we infer that  $\prod_p \theta(p, s)$  tends to zero as  $s \rightarrow 0$ . This proves the theorem.

### 3. The behaviour of $f_\lambda(s)/f_{\lambda+1}(s)$ .

We define, for  $\lambda = 1, 2, \dots$ ,

$$f_\lambda(s) = \sum^{(\lambda)} (\alpha(n))^{-1} n^{-s},$$

where  $\sum^{(\lambda)}$  denotes summation over all  $\lambda$ -full integers. In particular,  $f_1(s) = f(s)$ . For the quotient of consecutive  $f_\lambda$ 's we get the product expansion

$$f_\lambda(s)/f_{\lambda+1}(s) = \prod_p \left\{ 1 + \left( p^{\lambda s+1} + \frac{1}{p^s - 1} \right)^{-1} \right\}. \quad (11)$$

Taking logarithms we obtain a sum over all primes, which we want to replace by an integral. This requires the following lemma:

Lemma 1. Let  $g(x)$  be positive for  $x \geq \frac{3}{2}$ , increasing for  $\frac{3}{2} \leq x < X$ , decreasing for  $x \geq X$ , and assume

$$J = \int_{\frac{3}{2}}^{\infty} g(x) (\log x)^{-1} dx < \infty.$$

Then we have

$$|\sum_p g(p) - J| < C \{ 2g(X) \int_{\frac{3}{2}}^X (\log x)^{-2} dx + \int_X^{\infty} g(x) (\log x)^{-2} dx \}, \quad (12)$$

where  $C$  is an absolute constant.

Proof. It is a consequence of well known facts from prime number theory that there exists a constant  $C$  such that, for all  $x \geq \frac{3}{2}$ ,

$$|\pi(x) - \int_{\frac{3}{2}}^x (\log t)^{-1} dt| < C\eta(x), \quad (13)$$

where  $\pi(x)$  stands for the number of primes  $\leq x$ , and  $\eta(x) = \int_{\frac{x}{2}}^x (\log t)^{-2} dt$ . Writing  $\sum_p g(p) = \int_{\frac{x}{2}}^{\infty} g(x) d\pi(x)$ , and applying (13), integrating by parts, we find that the left-hand side of (12) is at most

$$C \int_{\frac{x}{2}}^X \eta(x) dg(x) - C \int_X^{\infty} \eta(x) dg(x).$$

In the first integral we use  $\eta(x) \leq \eta(X)$ ; in the second one we integrate by parts

$$\int_X^{\infty} \eta(x) dg(x) = -\eta(X)g(X) + \int_X^{\infty} \eta'(x)g(x) dx,$$

and the result follows. It should be remarked that justification of the partial integrations can be given either by proving that  $g(x)\eta(x) \rightarrow 0$  ( $x \rightarrow \infty$ ) or by replacing the interval  $(\frac{x}{2}, \infty)$  by  $(\frac{x}{2}, Y)$  (with some  $Y \rightarrow X$ ), and making  $Y \rightarrow \infty$  only at the very end of the proof. In both cases we use the fact that  $\int^{\infty} g(x)(\log x)^{-2} dx$  converges.

Theorem 3. If  $\lambda$  is a fixed positive integer, and if  $s > 0$ ,  $s \rightarrow 0$ , we have

$$f_{\lambda}(s)/f_{\lambda+1}(s) \sim \lambda^{-1} e^{-\gamma} \left( s \log \frac{1}{s} \right)^{-1}. \quad (14)$$

Proof. According to (11), we shall apply (12) to the function

$$g(x) = \log \left\{ 1 + \left( x^{\lambda s + 1} + \frac{1}{x^s - 1} \right)^{-1} \right\}.$$

This function is easily seen to have the monotonicity properties expressed in the lemma, and the number  $X$  is obtained from the equation  $X^{(\lambda-1)s+1}(X^s - 1)^2 = s(\lambda s + 1)^{-1}$ . Its asymptotic behaviour is  $X \sim s^{-1}(\log s^{-1})^{-2}$  ( $s > 0$ ,  $s \rightarrow 0$ ), and we easily obtain that  $g(X) \sim X^s - 1 \sim s \log X$ . It follows that

$$g(X) \int_{\frac{x}{2}}^X (\log x)^{-2} dx = O\{(s \log X)X(\log X)^{-2}\} = O((\log s^{-1})^{-3}).$$

Furthermore, as  $g(x) < \log(1 + x^{-1}) < x^{-1}$  ( $x > 1$ ), we have

$$\int_X^{\infty} g(x)(\log x)^{-2} dx < \int_X^{\infty} x^{-1}(\log x)^{-2} dx = O((\log X)^{-1}).$$

It follows that the right-hand side of (12) tends to zero if  $s \rightarrow 0$ .

Our next step is replacing  $g(x)$  in  $\int_{\frac{x}{2}}^{\infty} g(x)(\log x)^{-1} dx$  by

$$(x^{\lambda s + 1} + (x^s - 1)^{-1})^{-1}.$$

The error in  $g$  is less than  $(x^s - 1)^2$  and also less than  $x^{-2}$ , whence the error in the integral is at most

$$\begin{aligned} \int_{\frac{x}{2}}^X (x^s - 1)^2 (\log x)^{-1} dx + \int_X^{\infty} x^{-2} (\log x)^{-1} dx = \\ = O(s^2 X \log X) + O(X^{-1}) = o(1) \quad (s > 0, s \rightarrow 0). \end{aligned}$$

Hence we have proved that

$$\log \frac{f_\lambda(s)}{f_{\lambda+1}(s)} = \int_{\frac{3}{2}}^{\infty} \left( x^{\lambda s+1} + \frac{1}{x^s - 1} \right)^{-1} \frac{dx}{\log x} + o(1). \quad (15)$$

We split the integral into three parts, viz. from  $\frac{3}{2}$  to  $X$ , from  $X$  to  $s^{-1}$ , and from  $s^{-1}$  to  $\infty$ . On these parts we use, respectively

$$\begin{aligned} \left( x^{\lambda s+1} + \frac{1}{x^s - 1} \right)^{-1} &< X^s - 1, \\ \left( x^{\lambda s+1} + \frac{1}{x^s - 1} \right)^{-1} &< x^{-1}, \\ \left( x^{\lambda s+1} + \frac{1}{x^s - 1} \right)^{-1} &= x^{-\lambda s-1} + O\left(\frac{x^{2(\lambda s+1)}}{x^s - 1}\right) = \\ &= x^{-\lambda s-1} + O(x^{-2}(s^{-s} - 1)^{-1}). \end{aligned}$$

The main contribution comes from the term  $x^{-\lambda s-1}$ , which produces  $\int_{1/s}^{\infty} x^{-\lambda s-1} (\log x)^{-1} dx$ . Putting  $x = e^{-t/(\lambda s)}$  we obtain for this integral, as  $s \rightarrow 0$ ,

$$\int_{\lambda s \log(1/s)}^{\infty} e^{-t} t^{-1} dt = -\gamma - \log(\lambda s \log(1/s)) + o(1). \quad (16)$$

The other contributions to the integral in (15) are all  $o(1)$ :

$$\int_{\frac{3}{2}}^X (X^s - 1) \frac{dx}{\log x} = O\left((X^s - 1) \frac{X}{\log X}\right) = O(sX) = o(1);$$

$$\int_X^{1/s} x^{-1} \frac{dx}{\log x} = \log\left(\log \frac{1}{s} / \log X\right) = o(1);$$

$$(s^{-s} - 1)^{-1} \int_{1/s}^{\infty} x^{-2} (\log x)^{-1} dx = O((s^{-s} - 1)^{-1}s) = o(1).$$

This completes the proof of the theorem.

4. *Conclusions about  $S_\lambda(x)$ .* The Dirichlet series  $f_\lambda(s)$  (sec. 2) is related to the coefficient sum  $S_\lambda(x)$  (see (5)) by

$$\begin{aligned} f_\lambda(s) &= \int_{\frac{1}{2}}^{\infty} x^{-s} dS_\lambda(x) = s \int_{\frac{1}{2}}^{\infty} S_\lambda(x) x^{-s-1} dx = \\ &= s \int_{-\log 2}^{\infty} S_\lambda(e^t) e^{-st} dt = s \int_2^{\infty} S_\lambda(e^t) e^{-st} dt + O(s). \end{aligned}$$

We know the asymptotic behaviour of  $\log S_1(e^t)$  (see [1]):

$$\log S_1(e^t) \sim (8t/\log t)^{\frac{1}{2}} \quad (t \rightarrow \infty),$$

and as  $S_\lambda(e^t)$  and  $S_{\lambda+1}(e^t)$  differ by a factor  $\log(e^t + 1)$  at most (see [2], sec. 6), we have, for all  $\lambda$  ( $\lambda = 1, 2, 3, \dots$ )

$$\log S_\lambda(e^t) \sim (8t/\log t)^{\frac{1}{2}} \quad (t \rightarrow \infty). \quad (17)$$

If we replace  $S_\lambda(e^t)$  by its approximation in the integral for  $f_\lambda$ , the integrand becomes  $\exp \omega(t)$ , where

$$\omega(t) = (8t/\log t)^{\frac{1}{2}} - st.$$

The function  $\omega(t)$  has a maximum at a point  $t_0$ , determined by

$$\frac{1}{2}(8t_0/\log t_0)^{\frac{1}{2}}t_0^{-1}(1 - (\log t_0)^{-1}) = s,$$

whence

$$t_0 \sim s^{-2}(\log s^{-1})^{-1} \quad (s > 0, s \rightarrow 0). \quad (18)$$

Let  $c$  be a positive number ( $0 < c < 1$ ) which we are keeping constant for the time being. Considering large values of  $t_0$ , we notice that  $\omega(t) - \omega(t_0)$  is quite large if  $|t - t_0| > ct_0$ , and accordingly it is not difficult to show that the contribution of these values to the integral are negligible. In fact we have

$$f_\lambda(s) \sim \int_{(1-c)t_0}^{(1+c)t_0} S_\lambda(e^t) e^{-st} dt \quad (19)$$

if  $s > 0, s \rightarrow 0$ , but we omit the details of the proof.

We shall now introduce a smoothness condition which we are unable to prove. We assume that the function  $\psi(t) = \log S_\lambda(e^t) - \log S_{\lambda+1}(e^t)$  has the property that to each  $\varepsilon > 0$  there exist numbers  $\delta > 0, T > 0$  such that for all  $t, t'$  the inequalities

$$T \leq t \leq t' \leq (1 + \delta)t$$

imply

$$|\psi(t) - \psi(t')| \leq \varepsilon. \quad (20)$$

(This property has also been given the name "slowly oscillating", see [4], p. 124, but this notion is different from Karamata's as mentioned in sec. 1).

Under this assumption we can prove (6), i.e.

$$S_\lambda(e^t)/S_{\lambda+1}(e^t) \sim \lambda^{-1} e^{-\gamma} (2t/\log t)^{\frac{1}{2}}. \quad (21)$$

For we have, by (19),

$$f_\lambda(s) \sim \int_{(1-c)t_0}^{(1+c)t_0} S_{\lambda+1}(e^t) e^{\psi(t)-st} dt;$$

taking  $c < \frac{1}{2}\delta$  and making  $s \rightarrow 0, t_0 \rightarrow \infty$  we infer that

$$f_\lambda(s)/f_{\lambda+1}(s) \sim \exp_P^\varepsilon(\psi(t_0) + \theta(s)),$$

where  $|\theta(s)| \leq \varepsilon$  for all  $s$ . As  $\varepsilon$  was arbitrary, theorem 3 gives

$$\exp(\psi(t_0)) \sim \lambda^{-1} e^{-\gamma} (s \log(1/s))^{-1} \quad (s \rightarrow 0).$$

From (18) we derive  $(s \log(1/s))^{-1} \sim (2t_0/\log t_0)^{\frac{1}{2}}$ , and now (21) easily follows.



We can make a similar statement if we start from theorem 1. Define  $T(x) = \sum_{n \leq x} \varphi(n)n^{-1}(\alpha(n))^{-1}$ , that is,  $T$  is the partial sum of the Dirichlet series  $g(s)$ . And we take, in this case,  $\psi(x) = \log T(x) - \log S(x)$ . Now again assuming that this  $\psi$  is slowly oscillating in the sense expressed by (20), we can derive that

$$T(x)/S(x) \sim 2e^{-\gamma}/\log \log x,$$

but again we were unable to prove the assumption.

5. *The series*  $\sum_{n=1}^{\infty} (\alpha(n))^{-\beta} n^{-s}$ . The behaviour of these functions, for  $\beta$  fixed,  $\beta > 1$ ,  $s > 0$ ,  $s \rightarrow 0$  can be determined by methods similar to those applied in sec. 3. We only mention the result:

$$\sum_{n=1}^{\infty} (\alpha(n))^{-\beta} n^{-s} = \frac{\pi}{\sin \pi/\beta} \beta^{2+1/\beta} \left\{ s^{1/\beta} \left( \log \frac{1}{s} \right)^{1+1/\beta} \right\}^{-1} + O((\log \log s^{-1})s^{-1/\beta}(\log s^{-1})^{-2}).$$

It is also possible to obtain results holding uniformly with respect to  $\beta$ , especially for  $\beta \rightarrow 0$ , but these are rather complicated and do not seem very illuminating.

#### REFERENCES

- [1] N. G. DE BRUIJN, On the number of integers  $\leq x$  whose prime factors divide  $n$ , III. J. of Math. Vol. 6 (1962) pp. 137-141.
- [2] N. G. DE BRUIJN and J. H. VAN LINT, idem, Acta Arithmetica, Vol 9 (1963), (in print).
- [3] G. H. HARDY and S. RAMANUJAN, Asymptotic formulae for the distribution of integers of various types, Proc. London Math. Soc. (2) vol. 16 (1917) pp. 112-132.
- [4] G. H. HARDY, Divergent Series, Oxford 1949.

Technological University  
Eindhoven, Netherlands

Received June 13, 1963